

SHY CREATION INC  
 631 S Olive St #900  
 Los Angeles, CA 90014  
 Tel: 213-623-8900  
 Fax: 213-623-0860  
 www.shycreation.com  
 info@shycreation.com

## VENDOR JOB

Job #:	22017
Vendor #:	SC55
Job Date:	2/10/2026
Request Date:	2/10/2026

### Billing Address:

SUCRE JEWELRY DESIGN LTD  
 UNITS 4&5, 10/F, GUARDFORCE CENTRE  
 NO.3 HOK YUEN STREET EAST  
 HUNGHOM, KOWLOON, HONG KONG  
 PHONE#: 852-2311-1880

# SHY CREATION INC.

### Shipping Address:

SUCRE JEWELRY DESIGN LTD  
 UNITS 4&5, 10/F, GUARDFORCE CENTRE  
 NO.3 HOK YUEN STREET EAST  
 HUNGHOM, KOWLOON, HONG KONG  
 PHONE#: 852-2311-1880

Pic	PO #	Vendor Model No	Description	Qty	Gold Weight	Total Weight	Total Value
	SHY-1000083077	SE23799U104	14K EARRING	1.00	1.16	1.16	\$ 104.25
	SHY-1000083077	SE59106U104	14K EARRING	1.00	9.57	9.57	\$ 860.06
	SHY-1000083077	SE61118U104	14K EARRING	1.00	2.88	2.88	\$ 258.83
	SHY-1000083077	SN57904U104	14K NECKLACE	1.00	3.01	3.01	\$ 270.51
	SHY-1000083077	SP63740U104	14K PENDANT	1.00	1.34	1.34	\$ 120.43
	SHY-1000083077	SE46476U104	14K EARRING	1.00	1.21	1.21	\$ 108.74
	SHY-1000083077	SN56063U104	14K NECKLACE	1.00	3.63	3.63	\$ 326.23
	SHY-1000083077	SN60556RD104	14K NECKLACE	1.00	3.83	3.83	\$ 344.21
	SHY-1000083077	SN28583U104	14K NECKLACE	1.00	2.33	2.33	\$ 209.40
	SHY-1000083077	SE28583U104	14K EARRING	1.00	2.14	2.14	\$ 192.32

	SHY-1000083077	WN57858XU104	14K NECKLACE	1.00	1.96	1.96	\$ 176.15
	SHY-1000083077	SG26069SU104	14K BANGLE	1.00	12.82	12.82	\$ 1,151.25
	SHY-1000083077	SG26069SU104	14K BANGLE	1.00	13.07	13.07	\$ 1,173.71
	SHY-1000083077	SG26069SU104	14K BANGLE	1.00	13.33	13.33	\$ 1,197.08
	SHY-1000083077	SE25171XU104	14K EARRING	3.00	1.07	3.21	\$ 288.49
	SHY-1000083077	SE25171XU104	14K EARRING	2.00	1.06	2.12	\$ 190.53
	SHY-1000083077	SN25171XU104	14K NECKLACE	2.00	1.68	3.36	\$ 301.97
	SHY-1000083077	SN25171XU104	14K NECKLACE	2.00	1.71	3.42	\$ 307.36
	SHY-1000083077	SN25171XU104	14K NECKLACE	2.00	1.68	3.36	\$ 301.97
	SHY-1000083077	SE55163XU104	14K EARRING	1.00	3.34	3.34	\$ 300.17
	SHY-1000083077	SE59537RD104	14K EARRING	1.00	5.45	5.45	\$ 489.80
	SHY-1000083077	SE54457U104	14K EARRING	1.00	4.07	4.07	\$ 365.77
	SHY-1000083077	SN45567U104	14K NECKLACE	2.00	9.03	18.07	\$ 1,623.07

	SHY-1000083077	SE55163XU104	14K EARRING	1.00	3.55	3.55	\$ 319.04
	SHY-1000083077	SE55163XU104	14K EARRING	1.00	3.55	3.55	\$ 319.04
	SHY-1000083074	SN55756U104	14K NECKLACE	1.00	2.44	2.44	\$ 219.28
	SHY-1000083074	SN55161U104	14K NECKLACE	1.00	2.31	2.31	\$ 207.60
	SHY-1000083074	SN55161U104	14K NECKLACE	1.00	2.31	2.31	\$ 207.60
	SHY-1000083074	SE51621U104	14K EARRING	1.00	3.37	3.37	\$ 302.86
	SHY-1000083074	SR54274RD104	14K RING	1.00	2.59	2.59	\$ 232.77
	SHY-1000083074	SR53796RD104	14K RING	1.00	2.79	2.79	\$ 250.74
	SHY-1000083074	SN50521U104	14K NECKLACE	1.00	2.05	2.05	\$ 184.24
	SHY-1000083074	SE50521U104	14K EARRING	1.00	1.64	1.64	\$ 147.39
	SHY-1000083074	SN57571U104	14K NECKLACE	1.00	2.53	2.53	\$ 227.37
	SHY-1000083074	SN58184U104	14K NECKLACE	1.00	2.29	2.29	\$ 205.80
	SHY-1000083074	SN31822U104	14K NECKLACE	1.00	1.84	1.84	\$ 165.36

	SHY-1000083074	SN48155D10	14K NECKLACE	1.00	2.13	2.13	\$ 191.42
<b>TOTAL</b>				<b>44.00</b>		<b>154.10</b>	<b>\$ 13,842.80</b>

x Veronica Schauer-West  
Authorized Signature